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b-4-% B = CK90UR-2 CK90UR-3 CK120UR-3
BARLEES |ERLER 4.9 X% 2.1 4.9 X 2.1 49X 25
ISR - (txXm) |FETH 20X25 20X%X25 20X 35
T B 5 |RAERFERE (kg X m) 200 X 14.01 200 X 14.01 500 X 14.01
=AM EIBTE (4 RENF) (m) 15.3 15.3 15.4
=g - RAMTEIE (4 &#NF) (m) 24.7 24.7 24.6
= 7 |Z-LRE (m) 4.25~14.77 4.25~14.77 4.25 ~14.77
rzm | T—LER FERL5 BT (2 BB, 3 ~ 5 EXRIRHIRAR) | 7B 5 Bt (2 B e, 3 ~ 5 EREIRS(ERAR) | #8Y 5 Bl (2 BRI, 3 ~ 5 ER RIS {ERR)
EERO— EE (m/min) 104/150 (4 BH) 104/150 (4 BR) 104/150 (4 ER)
Y |O—TRE (F#H) (mm X m) 2 10 X 113 2 10 X 113 2 10 X 113
Tb=v T—LiEET ULiRE @B 20.5/-1 ~ 80 20.5/-1 ~ 80 20.5/-1 ~ 80
J—LEFURE (DA RO—2) (7 /m) 25.4/10.52 25.4/10.52 25.4/10.52
Nz . | BEEEE (min™) 2.5 2.1 2.1
hL. |ETEE (km/h) 4.4/2.8 5.3/2.6 3.0/1.8
s TSy iy L\g S 4LE2XCUA L\g Y 4LE2XDPC L9 3 4LE2XDPC
— EAEEA (KW [PSYmin™) 41 [56]/2,200 41 [56]/2,000 41 [56)/2,000
. fEEFRAY B 2t B
R ewnsooas 0 % % %5
BEEE® (kg) 9,640 9,700 12,470
> a—1ig (mm) 450 450 500
& ¥ |EeEr (kPa [kgf/cm?]) 46.3[0.47] 46.2[0.47] 42.6[0.43]
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